MATH 145 ToruTiams - QuiZz 4

@ G.\:J\an-\#san_z, ) ao:q) at:r,

f'z:.k("¢3 , 3o rl-%r—g =0 (F_B)U-*'):o; =3 R C= -4
30 - 3.’\ -t o = L =
Qr\_a(- )fe’( ') ao‘ A*L = (A»OO»NG_)
Gz3d.e=T

Ad zw6f d=4, ess
” (io=+<3°)*5<—"?42 N

QA (4,%) ) (,3)
fe (x) = x> né e A 3 3 N
Cdc. ) CH-:E “'.IFE*- (xt—)x?. +3£T + i (\*X«—:. » X2 +l‘l)

i

(5 o e

(%« a v ) (e*o0) ()

-

s (€At oet e ) ()
= g (T ea? e iet i aet )
b N
=,

N,

i i
3o On = -;_ [5"‘ 237, V-5 _ Q‘“H-‘I Fol n > | <w.TH a -OJ
S s < )

@ Cd(x)

1
b S

I}

<
(v« X +1 ) (l-b-)(-e-)\'l)(\4')<4-)\".«g-)(3")(lﬂi-)(“-~ X8
-+

3 '3
€+ vy Ve X
(..‘ 2 ,J-w"*j/ _ X% v \ ) ( TA ‘”J
)

i

' [ )
(.

L X, Lexo a=xT 3 T T

+ =0
= (v-x])7" = E (“"SJXn sa Q,,:("*3
nz=o 3 ! 3 )
@ teT b-‘\.(f\.c\n
)

3¢ Twe mumBea gf

QAQn = b(\ﬂ'(nfan

N~ 000GV S3TR NG S START,

NG wTH £, 5 ¢ ResfecTive Ly,

3o Qn = (ba. s Cav) « (Ba-y *dn-l) + Qg
9 ba 2 balix (oo — =
3) o dﬂ | ) qn_;. v ha v Qo = A0, + baoy
Ca = baui v dany .
g NS P by N
4) An - qn_‘ a - fl\ V-2 ¥ (Q--l) = ‘lan-l + (Qq_)‘ _Al\_&)

h

J«On-u -« Q,‘-,‘ — q'\-S
>

e —————
=N an:%dq_l*qq_)‘—an__;
- TTTTTT—
@ e ¥] F:‘l}f‘ THede Ade A5, - Qn-_\

Poss 8iLiiies

(s nte T
- < refe ARe Q"'-\ PassiBiLiTies
i e = ti = w6 ¢35 Tise dwuo L.("T'&QJ
¢ A 3 4 n
4 T Qn i PussiBiLTies ,
e G e Fmst" Trede A L e (C\ic(k' ; 00:‘. a3 g iy
> N2
R ANe 05 <)
o 3 _
- - d, . Possdipinies
N 2 5 s FR3T - TecAe ARC (a.. &-a"'3) * Mo
(& ano ) (4 ano)
S w5 ¢
' * 3 n ) n

Tit el rork € EQ.-\ = )\Qr]-l -+ C\“-l ~—QT;:_;]




